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U HHIG—2 A 6 qh g ye 7 e 2 3w 7|
U HHIG—7 A 11 T6 AgSTRIT T 8 Rra# 3 3fw 2|
U HHIG—12 A 18 qh AGSTRIT T & Ra#t 4 3fd 2|

U9 hHIh—19 T 23 TP SIuSaeIg g3 & s 5 3id 2 |
S hHTh—24 W 25 b SrdSaeg U & foraH 6 3 2 |
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s (3)
[UAD Y 1 3P BT ?)
geq BB 1 — eI fdded gy forfay — 1X5=5

(i) 3T W *Meide © RrIdT fShiee ®9 # M & —

(31) Bip 002 (@) Bip 003
() Bip 001 () Bip 004
(i) FER 1 fpad W # dfer T ® -

(61) = @ =1

) TH ) ©:

(iii) TfeE & 9T & Rigid 80 & —

(a7) w® (@) =

(@) =R () &

(iv) Arcs (ash) forT foramail &1 U& Sewa @ —
(@) IS & B @) BI<T ¥ g1
(@) BICT | BIA () 9<1 9 99

(v) o TfSex & anfSal ¢& &1 Folde &R & foIU SXATS fohar SIar & —

(1) Delete () Enter



(9) Space (@) 39 | dIg &I

e HHIG 1 (@) — Rad Il T g Sy —
() foRad FAOR 9 H SYANT fhar SIrar B |
(i) Biped SUaNT WRTHIEX SUART BT AT ... WIgel AT BIdT o |
(iii) TR NSRAT & UIRIGIR BT ... HEd T |
() — MR AR A9 § HEayul ¢ |
(v) Quadruped walk cycle ¥ 3T ..o THHE B HHhd ¢ |
s (9)
(UAD YT 2 3d BT 8)
JfagSTd e (Ireq HHT — 30 )
UeT HHID 2 — YL H U8 Pl BIa—HTd 9T 2°
g HHId 3 — SIUeiic T 57
Teq HHIG 4 — FAR AT 87
Ue hHID 5 — qAIgAT w1 87
U HHIDB 6 — IISFET a1l FT 87
s (%)
(UA® 9T 3 AP BT ?)
I Y] (eq HHT — 50 <)
Ue HHIE 7 — YAHEE H Uoide 66 R wEd 87
g Hid 8 — Ricge Fm 87
U HHAIG 9 — oS 3% YR fhd FEd 27?
U HHAIP 10 — TR fthT vaRE fh FEd 27?
e HHIG 11— &iS BIel B I & MY FIT FHSRT 2°

s ()
[AD Y 4 AP BT B)

SN YTA—11 (Ieq AT — 80 3Iex)

1X5=5



U3 HHIG 12 — dld AdHA H divhde diol IR R # ofar foRau? (@1% aR)
2+2=4
3ferat
dies ot AR ¥ ARG # MR RIRIg? (@1 aR)
3 HHIDB 13 — AR | Aol (ARTH) | M9 FIT FHd 27 4

YT

AR & Had BT AASSY?
yeT HAG 14 — AT H AT 3OS DY fpam ST B2 FHALY? A+H1+H1+1=4
3rerat
qrn ¥ fafedi g 9 fear Sirar 8? |Hsiee?

U hHIb 15 — GdIG BT [ATI¥T B fhar SIar 27 AHsIgU? 4

AT

fora R aar 8° 9SSy |

U9 HHIH 16 — ISR 97l 9T 82 SHD Gl A8d [e1dy | 24+2=4
ayerar
IR 91T |7 87 D oI Hed faIRav |
e HHIG 17 — 1ol U9 I—3MST a7 87 AV | 2+2=4

aferar
qaigAe SR ufifdar @ 8?7 |Hssy |

U9 b 18 — 4 oI dIh ATIH Dl FHSTSU? 4

3ferat
R WDl AT 87 FHIIST?
s (3)
(USRS Y 5 AP BT B)
< SO -1 (3rss AT — 130 9IR)
g% BB 19 — CAIBIA RICHER a1 8?2 Tellhi § a1d 6Rd 99 &4 b 9rai



T &9 @1 a1y | (Blg <)
3ferdr
feRad HeR i STedl 8?7 59 o™ forfae?
UeT HHIDB 20 — AGYS i ARIDS I DI Ufshar Bl forfeay? 5

YT

BN A ARIded I o afed aHensy?
e HHID 21 — AW SABIST 3R fSHIST # 3faR foray? 1+1+1-+1+1=5
aferar
IR B AT BT quiT HifTe?
U HHIG 22 — YSIIE YA TAReE H UHHeE RIGAl & ar] &9 far o

JhdT 2?7 FHSU | 14+14+1+1+1=5

3r2rdr
foraRiT @ PIs ura ufde T usT &1 fors 941su?
U9 HHIP 23 — ISR 1T g0 THI STIRT BT S dTel) foedl a7 Tt o

Afed urg fa=gar d goiq FIfog? 2+3=5
3reraT
a6 WG B TAHT SR dl Ufshar @) o afzd aoie $ifrg?
s (%)

(IS Y 6 AP BT B)
< I w11 (Irsq AT — 180 ¥I)
U3 BHHID 24 — I G 99 DI YihAT &1 AfH guiFd HIfeTe? 4+2=6

37erar
dfh ATl g1 bl UfhaT—] BT AT guig HIfoTe?

e HHID 25 — Ulolae [qusl H =g Uloide a9 &f Uishan &1 = |itd a+9ssy |
4+2=6

3rerdT
ATfpT gfshar &1 fora afed aHssu?



gTeet gy=9a — 11
HEAT — 12d]
Hifear yvs gexeTie fawa ss — (956)

HHY © 3:00 EOC qUites — 100 37

e — ft Ul @ SR forae sifvart 2
1. U HHID 1 IS U 2| SHH WUS ¥ U4 WUS g B dAT WUS

(1) H 5 e © TAT WS (@) W 5 U & | UAP UL W 1 (P IM&fed 2|

Instruction:- Question No. 1 is an objective type question It has part (A) and part (B). Part (A)

carries 5 Questions and Part (B) carries 5 question mark in allotted to each question.

2. U HHI® 2 W 6 TF ANTAYSHIT U 2| TS WA W 2 3%
amefed 8| SR @ Afdad M 30 IS B |

Question No. 2 to 6 are very short answer type question carries 2 marks. Maximum

limit of answer i1s 30 words.

3. U HHIG 7 W 11 Td SIRTIgSTIT T 2| YRS U W 3 3id
adfed 8 | SR @ Afddmad T 50 g 7 |

Question No. 7 to 11 are very short answer type question carries 3 marks. Maximum

limit of answer is 50 words.

4. U HHIB 12 F 18 TP TSI U 3| UAd U H MR fawey
2| ISP I W 4 3P IAMEfed g | TR DI AfeThad ™1 100 K 7 |

Question No. 12 to 18 are short answer type question. Each question has on internal

choice. Each question carries 4 marks. Maximum limit of answer is 100 words.

5. U3 HhHIh 19 9§ 23 dP g U9 2 | Ud U3 H ofdRe fddey
2] UP YT W 5 3k IEfed 2| IR B fdrpad WEr 150 I 2 |

Question No. 19 to 23 are Long answer type question. Each question has on internal

choice. Each question carries 5 marks. Maximum limit of answer is 150 words.

6. U2 HHID 24 W 25 TP STISTRIY U B | UIH UH H AaRe fddeq
2| TP U WX 6 3P IMEfed 2| SR D AfTHad HHT 200 IS T |

Question No. 18 to 23 are Long answer type question. Each question has on internal

choice. Each question carries 6 marks. Maximum limit of answer is 200 words.

g2 HHlb 1 — WS (31) eI fddhed Aoy IR forfay —

(Part —A) write correct Answer from the option.

() ARa®w HaR H omar ® — 1X5=5



(a1) XfSaT (@) TABH

(|) &9 T % (3) SWRIad a4l
(i) Oral communication is -
(a) Radio (b) Telephone
(c) Face to face (d) All of the above
(i) AR BT AETH T —
(¢ gewre () el
({) ad3iR b aFr (@) ®I3 &I
(i) Medium of communication is -
(a) Internet (b) Telephone
(c)aandb (d) None
(i) oS & RIgia & —
) T (@) =R
() =< (@) =
(ii1) Principle of posing is -
(a) One (b) Four
(c) Two (d) Three
(iv) TRIeT IR ¥ 3ATg BT & —
(31) Run Cycle (&) Walk cycle
(&) arfst () P1g T
(iv) Squash and stretch apply to -
(a) Run Cycle (b) Walk cycle
(c) Posing (d) None
(v) TR H el & —
(a7) Ta= (@) RIa=m
(9) aandb () DS el
(v) Anticipation includes in -
(a) Action (b) Reaction
(c)aandb (d) None
ged HHldG 1 — @us (4) Rad =i a1 gfd iy — 1X5=5
(Part —-B) Fill in the Blanks -
O R— GIoNed & 12T a1 ATdHd Y HIAT SR ST Bl ¢ |

(1) It is always easier to start a walk cycle with a position.



(i1) In walk cycle having ............. poses.

G —— MR NEIE W'T =
(6511 T and .......... are vital in communication.
(iv) q&’ﬁ .................... THIHIE & 91T 2 |

(iv) Happiness in partof ................ Animation.

) TRAT B o Ud ¢ |

(iv) There are ...................... steps of posing.

JfdTgSIT 9e (I WHT — 30 ¥ex)
Very short Answer Question (Word limit — 30 word)
geq HHid 2 — fIRad FaR a1 87
What is written communication?
U3 HHIP 3 — YN D WG P &I Iarexvl faRag?
Write the two examples of facial expression?
U HHID 4 — AT FIT 67
What is planning?
U HHIE 5 — i GHehla ded H fhad HH 8 27

How many frames in walk footfall Patter.
e HHIE 6 — SIuefie fhd dwed 87
What is dopesheet?
TSI Y1 (sq AT — 50 )
Short Answer Question (Word limit — 30 word)
U HHIP 7 — did AID T 27
What is walk cycle?
U9 hHIb 8 — Ul (Solg=T T 87
What is pose designing?
g HHIb 9 — o RIST F Hed? IHSRT |
What is track Reuding? Explain it.
U HHIP 10 — 3R AfRT BT FHSISY?
Explain the overlapping?
U AP 11 — A UST AT 8?

What is frame padding?



I Y11 (Ieq €T — 80 Ieq)
Short Answer Question (Word limit — 80 word)
U9 HHIB 12 — Pbicde Urel Ud Rbidd UIsT bl THSIST? 242=4

Explain the contact pose and Recall pose?

3AIdT
OTRT OIST U9 8T8 TS bl FHSIgU?
Explain the contact pose and Recall pose?

U9 pHIb 13 — FIR 3R dHIve FIN T &2 FHesU | 24+2=4

Calhat is communication and composed communication explain it?

3rerar
A9 3N 3MIRId FAR B AHSSU?

Explain verbal and non- verbal communication?

U9 hHIb 14 — INN ISP Bl FHSMST? 2+42=4

Explain the Body mechanics.
3AIdT

IS & FRITARUT Bl FHASISY?
Explain the transfer of weight?

T HHID 15 — TSV &I BT TIHC B & RO DI forRegy? 2+2=4

Write the steps to animate the blend value?
31qdT
e Bicisi™ Iy Ae &R & RO B feTRgy?
Write the steps to set the blend falloff value?
U HHIP 16 — SISFAT Tt § WA aIgd dTel AT 97 27

What is frame wise ball shaping in Bouncing Ball?
AT
IR 917 | ST & ey o fhar Srar 87
How to flip the Drawing in bouncing Ball?
U HHID 17 — AT BT UIol Bl FHMST? 4

Explain the planning key pose?
AT

OISt € YISl YR T HHSTSU?

Explain the pose to pose animation?



U39 HhHIDb 18

U39 HHIDb 19

U3 hHldh 20

U9 hHld 21

U39 HhHIb 22

U9 hHldh 23

— Q& HNFeR BT U8 FIT g41aT &7

What makes a characters face alive? Explain it?
3AIdT
AT Ud I—37TST DI FHSIZY?
Explain the planning and layout?
<refsadg gy (s EFT — 130 3eR)

Long Answer Question (Word limit — 130 word)

— Tledd T 27 fhsl 9 USRI BT guiF HITe?

What is the feedback? Explain three type of feedback?
3ATdT

Ueee T 8? 30 USIH Bl a9 favwdare forRag?

What is presentation? Write three features of a Good presentation?

— BN & dfd A-IH Bl JHSIST?

Explain the walk cycle of horse?

AT

FITCUS dld ARG BT THSTST?

Explain the walk cycle of Quatruped?

— <R @) AR B i B

What is the different categories of communication?

aferar
GAR el bl aifidd HITTg?

Classify the communication channel?

— U ufbar # SR qrer fmior @1 fafer ferae?

Write the process of creating bouncing ball in Animation process?

Jrerdm
dic? Bl THHe & fhar orar 87

How to animate the ball?

— Usdid UfdeTT U & Rigial o1 forRge?

Write the principles of advance acting process?

AT

Uedig U gy & fRaeidr o1 forffgu?

Write the principles of advance acting process?



dresadg e (Iss AT — 180 ¥IeR)
Long Answer Question (Word limit — 180 word)
U Al 24 — dih APl BT URITOR feIRay?
Write the procedure of walk cycle?
3AIdT
R WDl BT YRR forfey?
Write the procedure of walk cycle?
U HHIP 25 — TR YSR AT &I R 3 FHemsy?
Explain briefly Animation Render setting?

ST

P AT BT BT IR 9 gasmsy?

Explain briefly custom naming string?

) —



